21

21
90
21
2009 21 3 12
80
6
—-— £
)
== a
N
2 2

38

42

85



80

100%
90 @ 100%
80
70 — 80%
0 \ A—__ 65%  64%
\ 53/ 60%
50
5%
40
\ 40%
30 \
20 20%
10
%
0%
0%
80 36 42 56 52 51 3
100% 45% 53% 70% 65% 64% 0% 4%
80
70 65 64
100
80
90 3% 100%
80 '\ Kegw
TS i} -
60
1| R—; |l o
N\ ../m /0
40 8% \ A%
5%
30 H —\z—
20 H 210% 20%
10 [ I
R T NN o
- 79 | 30 | 31 | 47 | 28 | 71 | 17 | 4 3
—— 90% | 38% | 30% | 59% | 35% | 89% | 21% | 5% | 4% | o% | o | o» | ok

64




1
30
74.6kg
91.1cm
12.5cm
10

3cm

4kg 3.5cm

)

72.5kg 2.1k

« 88.7cm 2.4
8.5kg
81.4kg 94cm 40
2
30 60

4kg

79kg 97.5cm 40
6



